AAAAA
AAAAAAAlAlAAALAAAL;;AAAAAl“;;“‘-';SU AR_EM

2% DO NOT OPEN THIS TEST BOOKLET UNIE 2=

<
<
< CODE : RFL - Il 2020
> ( S
$suB - s
§ GENERAL STUDIES - I D
<
4 _ _/_) Max Marks 200
: Tirme 2 Mours L S
——
< e
o Write your Roll Number in numbers
« _
<« - R
: in the box In words
L |
: To mark Answer use Black Ball-point Pen only
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U el s before writing handover the

4 You are to mark your answer on Answer-Sheet only. After the examination 1S OVer.
« Onginal Answer-Sheet 1o the Invigilator.

: IMPORTANT INSTRUCTIONS

€ 1 Answer all questions All questions carry equal marks.

2. The Candidate should indicate the correct Roll Number, Subject, Paper
Answer-Sheet, otherwise the Answer-Sheet will not be evaluated and th
responsible for it

3. This Test Booklet contains 100 questions. Each question has four (4) options which are given
below the questions. Only one option is correct out of four. You are required to darken the circie
corresponding to the alternative which you consider to be the correct or most appropnate answer |
in the Answer-Sheet by Black Ball-point Pen. :

4. Do not write anything on the cover page of the Test Booklet except Roll Number. Use the space for |
rough work given in the last two pages of Test Booklet. [

5. If you happen to find that the Booklet issued to you does not have all the pages properiy printed
or it has any other deficiency, then you need to approach the Invigilator to get another Booklet of )

same Senes and Code.

| 6. In this question booklet questions are printed in both English and Hindi languages. In case of any
ambiguity in the question the English version of the question shall Prevail,

Code and its Senes on the
e candidate will be solely

7. Penalty for wrong answers .
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

ANSWER SHEET,
(i) There are four alternatives for the answer to everg question. For each question for which a wrong
answer has been given by the candidate, one-third of the marks assigned to that question will

be deducted as penally.
(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that

question.
(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.
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1. F=fafen § fge ww @

(@) ¥
(c) ‘&'

(b) ¥
(d) ‘3’

2. WA+ §9 = S F we-dt why @ o
(a) famef |@fy
(b) =R EfYy
(c) =97 Gfy
(d) v & F ¢ 7

3. o qet weg A Fowm 8 @ B vt 2, 59
FEd 8 '
(a) &M L0 (b) fesigor o
(c) u1g | (d) gy

4. ‘IRam’ wsg 1 aref &
(a) Sie[ '
(b) S=TeT
(c) 3w
(d) a9

5. ‘Eﬂﬂ??ﬁ%ﬂ’ﬁﬁq-wﬁwﬁﬁwé ?
(a) dfirs

(b) 7A
(c) T

(d) 3vgea & & IS 7t

6. ‘TG veg & ey
(a) gFAR’
(b) “fererepor’
(c) ‘&1’
(d) “argur

7. Tl arwt § we-a1 am Rk R 6
RIS R 7
(8) i, =T S 3 @ | Hgwr P gt A 2 |
(b) i1 1 =T St sft & | gy A geer T R |
&Y sk, =T S oft @, TS I Goict ST | |

(d)mla%ém%ﬁ‘eﬁmgw#géamél

i

£ e =t |

= g <

wm%,a‘gﬁﬂﬁﬂm@mgl
&7 %, s o o el i LA R |

6. v ety 1 P e A A wRA R 7
(a) STHH! HRATE I FET
(b) i B WEI
(c) g4 &l ©E&4

‘/(,dj’uﬁwmq
9. Wflad & Ieu W W g ¥ frg e el A
3avIhar gt & 7
(a) a1, g@ 3R 3
(b) S 3R TguE H Wra
, T 3R A=<
(d) 9 & S 7§

10. ud ugsr & fergent ferg wear @ 7

AdT & (b) Hfer w1
(c) =afica =1 (d) =wvE

1. o Fgf o w@r 2 ¢
(a) a9 §
(b) Tg F
AT I A
(d) 3T & @ fopeft

12, S5 1 ST ot s 2 2 7
& e e ww s
(c) &t | it
(d) ¥ #
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g ? mﬁh‘mw%qﬁ
(a) HHA (b)
T D
(c) ¥ (d) 3=

14. gyrafed’ & H-7y T 2 o

(5. T W H e

Instruction for Question Nos. 21 to 25 :

RFL -1l

17. o3 s ) weR’ SR @ o
(a) s afFa € A wm Rre

(b) Fremma H fufx
(c) T @M T o
\ (e ST A A T B 8
18. iR woff f e v g @R 7
(a) = by T -
() ¥ (d) ‘¥
19. Frafafga e ot & @ aqzﬂwm‘s -
qu g ?
@ T, & (b) ‘31, ‘A’
(c) ‘3, ‘3’ d T, ¥

20.  gewarsh wem % fw # fog m Frefeiea wemt
i H-a1 A qEd TR 7
(a) T& %1 T g, whfem Qe o @ Feba @
(b) ‘T W RV FHFH I TgEH T @
(c) Ty i o wd w9 R A @ @

(d) ¥E % Y X H T TE TE B

Read the following passage carefully and answer the following questions that follows :

Education is a device for helping a man to grow to his full stature. It enables him to realize his nature both mentally

and spiritually and in that realization to become all that he has it in him to be. Itis to the child what perfect gardening
is to the-tree, a help so to grow that it may develop its own personality. A good gardener helps éamm_/arlggm

W of its own that differentiates it from all other plants and makes it a thing of use and beauty
inthe world. The good education performs a similar office for the human being.

PESEE

Tothe man of trained faculties and developed tastes the world becomes literally a larger place, larger and the more

exciting. He is able to see in it more beauty, more variety, more scope for his sympathy and understandmg than
he saw before. So far as the understanding of the universe is concemed while education diminishes certainly of

what is, it wrdeﬁrﬁw of what may be and transforms the world from humdrum scene of

workshop, factory and office to a universe of mystery and treasure house of beauty.

21. What is the work of a good gardener ?
(a) To help each plant to take water

(byfo help each plant to put forth the essential

quality of its own
(c) To help each plant to grow

' (d) To help each plant o be green and healthy

22. The passage “universe of mystery and atreasure

house of beauty” means

(a) Helping a man to develop the best in him
niverse full of mysterious and beautiful things °

(c) Education of universe makes a man wise

and beautiful
(d) Education of universe makes him bounteous

and large hearted

3-
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E WE £ fipt
. . word is wrongl¥ spelt ?
23. The world becomes a larger place and the more | 30. Which of the following
exciting : (a) Correspondence
=) Fon W-reS”er (b) Conscience
e (c) Occurrence
(c) For a cheat - - emem e
or a man of trained faculties and developed Conveneince  Con
tastes " int
. once INto
31. Change the sentence “letit be done at -
24. Education enables a man : . :
o realize his nature both mentally and spiritually gctive voice.
(a) Let it happen at onceé

(b) To become a gardener
(c) To be physically strong
(d) To become a successful person

25.  What an educated man is able to see in the world ? \)9”/ Dosit:atonee

(a) Mountains, hills and bushes .
(b) Roads, meadows and inns 32. . Punctuate the following sentence -

(b) Do it atleast once
) Let it occur at once

(s QR van'ety, more scope for his “Whatever is is right.”
sympathy and understanding than he saw before < Is right ? /=
(d) Rivers, lakes and rocks (a) Whatever is. Is f.lg !
(b) Whatever. Is is right. 3=
26. “White elephant” means | hatever is, is nght.
(d) Whatever, is, is right

- (a) Arare object
(b) An uneconomical possessiom<

;\_,(C:)T' m::ﬁd ihatdoes nof exist 33. ‘In the pipeline’ means
possession>-— In the process of being developed
o _ (b) Partake
Choose the correct conjunction from the following ,
@ options to complete the sentence : () Pnlmacle
“He got he was ill”. \g) Pries
Until : :
(b) Becaus 34. In the sentence, “he finished the job at one go’,
’ ,':‘"h"”gh;" the word ‘go’ is
(a) @y Verb Je_goy —wewd
@ Choose the correct synonym of the word (b) Nouny?
‘abgminable’, (c) Adverb
Disgusting (d) Adjective/o
(b) Cold
(c) Abusive '
(d) Hot ; ‘ 35. Change the sentence "I never eat meat, he
) explained” into indirect speech.
: Th% wcc;rd rendezvous’ means (@) He explains that | eat meat
a) Endeavour - :
((b )) Am ppointed for a meeting (b) He expla?ned to eat meat :
(c) A secret place y dp)’Fle explained that he never ate meat
Adventure (d) | explained that he never eats meat
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6. lf-y-—Z—; henthevalueofi%— is 36. zﬂé Y- —-—,a’r —3—4.—;5-%!417{ e )
equal to i ) 5 e ti_?_: 2,
(@) 0 (b) / —ﬁ_—\;\k‘ (a) ) A S P
(d) 1
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37. Aand B are two sets. A has 10 members and
B has 18 members. A U B = 20. The number of
members in A N B will be
(a) 10 (b) 12

(d) 6

38. The diagonals of a rhombus are 32 cm and

24 cm. Its perimeter will be

(a) 50 cm (b) 60 cm

(c) 70 cm \/Ld)( 80 cm

Two variables y and x are related as y = 5x +4. The
arithmetic mean of x is 10. Arithmetic mean of ¥

will be
(a) 50 (b) 54
(c) 29 (d) 46
40. The mean of first twenty positive even numbers is
(a) 20 (b) 18
(c) 17 21
41, Which one of the following is a paralinguistic cue
i k- nbiic =

in communication ?
(a) Facial expression (b) Gesture
onal pitch (d) Posture

In which type of communication network there is
likelihood of emergence of a group leader butlower
satisfaction among the member of the group ?
(a) Wheel type (b} Circle type

VLC)/ Chain type (d) Barred type

43, Which ofthe following is an example of organisational
silence in upward communication ?

(a) Distortion (b) Delay
\J;»/L;eck of response

(c) Filtering

Which of the following is NOT a form of positive
listening ?

(a) Diagnostic listening

(b) Reflective listening

44,

(c) Empathic listening
V(,a‘)/Judgemental listening

i

e

(A 4 n (1) »—nCPmB)

lol.Ll% ~ nGNE)

37.

38,

39.

40.

41.

42.

43.

44,

© Y,

Aqaisaqgaﬂ%mﬁmam%aanaﬁwm

%1Au3=20,?hAnBiiﬁsaﬁaazzrgﬁﬁ?
(a) 10 (b) 12
(c) 8 (d) 6

ﬁgmgqagga%mufszﬁvﬁmzaﬁwﬂélm

gfsm &

(a) 50 Bt b) 60 @i

(c) 70 &l (d) 80 &t
2y x P 3w

y=5x+4 | AR x P FHAR A 108, @y
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(a) 50
(c) 29
o e AT W GEAIS F A
(a) 20 )18 3 1 ¢® 1o 12 ™
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(b) 54
(d) 46
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(a) ferpfa (b) Forena
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(b) wuafda saw
(c) Tpferh wwm
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45.° Which of the fol
arrier relateq to noise ?
a) Perceptyal problems
( Information overload
(C) Dyadic archetypes
d) Cultura| differences

46. Cross-departmental Committees are the form of
(a) Optimum Communication

b) Upward Communication*°
(¢) Downward Communication
ateral Communication

lowing is NOT a communication

47.

In the communication Process, successful
transfer of messa

g€ can be checked through
(a) Encoding (b) Medium

\_{c¥Feedback (d) Passive decoding

48. Aman pointingtoa photograph says—"The lady inthe
photograph is My nephew's matem:

al grand-mother”.
Hipw isthe lady in the photograph related to the man's
MokrSister who has no other sister 7 She is

+~~1a) Cousin (b) Sister-inHlaw

(c) Mother ng)' ‘Mother-in-law

49.  Find the correct alternative from the following :
Ocean : Pacific : : Island - ?

(a) Greenland A, i (b) Ireland Atlanke.
(c) Netherland e Borneo il

.[.,,M,

\Adlart
50. Arrange the following in a logical order :
1. Frog
2. Eagle
3. Grasshopper = L3 y |
4. Snake
5. Grass
9524 (034751
0 3,1,4,2 (d) 5,3,4,2 1
Find the number of triangles in the following figure :
Lo+

45,

46.

47.

48.

49,

50.

o1.

A

RFL -

RifRee & ¥ F-T1 TR @ TEFuE T
A R 3

(a) WY -FHTHS WA

(b) =T It

(c) fe= ey

(d) wrepfen Rt

-y wfifet w9 @
(a) AW HEINTT
(b) et wEwuT
(c) T Twor W
(d) TR T = .
T s § S w6 e R e
ﬁma?iai (b) = R
AL .
@ T carrlvidion
L EAD|L %Edl & -
o 3 o T o B A ¢
HIRTE 3w i w1 3w e 6 9w Q.

Ty B, Rl o o sz i R ¢ v
(a) ==0 wgm 2 (b) e &

(c) W (d) @ @
ﬁ%ﬁﬁﬁaﬁﬁmaﬂwmi
HEETR : Y90d WEETR : : @9 ;7

(a) Mdvg (b) IFREIvS

(c) Frewdvg (d) <R
W&gﬁﬂﬁmﬁﬁmﬁwﬂ%ﬁ%ﬁrﬁﬁ:
1. tes

2. 9

3. fom

4. |y

5. HH

(@) 1,3,5,2 4 (b) 3,4,2,5 1
(©) 5,.3,1,4,2 (d) 5,3,4,2,1
ﬁﬂ%ﬁaamﬁﬁgsﬁﬁé@rmﬁﬁm
(@) 12 (b) 13

(c) 14 (d) 15
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onkey climbs a 12 meters h

52. in his first minute, he climbg 2
«t minute, he slips one meter

igh slippery pila
T
meters ang iFr)l the

ne o down, In thig
ow much time will he take to way,
e pilar ? t each the top of
es :
(a) 10 minu 21 minutes
(c) 12 minutes (d) 11 minutes

Matchthe List—Iwith the List—l ang selectthe comect

53 answer using the codes given below the [is
kllls:n;rll are mort List-Il
A alxe~1. Univ i
. No man are perfec Partii[ﬁglr gzggilive
¢. Some students Universal =
are intelligent. affirmative
D. Some farmer 4. Particular
are not rich. affirmative
Codes :
A C D
@1 3 4 2
(b3~
: 1T 4 2

~ The process of judging some problem situati
on the basis of its similarity with%ne encour‘:t?et;gg
earligr, is known as

nchoring heuristics

(b) Heuristics of representativeness
(c) Adjustment heuristics

(d) Availability »o

55. Which one of the following sometimes hinders

the problem solving ?
(a) Heuristics Wntal set

(c) Analogy (d) Algorithms

56. Which of the following decision making style takes

longeF time ?
v(a)’%\en’alytical style

(c) Directive style
57. The proportion of various sectors in a pie chart
is directly proportional to
(a) Perimeter of sectors
Angle of sectors
(c) Area of sectors
(d) None of the above

58. Mode of the observations 10, 11, @_1_?_ 12,13,
17,019 (&) 12, 48) 10, 15,48 101s
@13 (b) 15
sy 16 (d) None of the above
5. The principal use of ‘definition’ is to eliminate
(@) Logical forms (b) Rules of grammar

(¢) Meaning Mmbiguity

(b) Behavioural style
(d) None of the above

52,

53.

54.

5a.

96.

» 97,

58.

59.

g—-!"m". | -
i —2m
GMn‘\M-—-_-‘BW‘

?&\-\;4 s

lo — &

i =
[ an RFL - Il

16 —
) . |e38,- 9 Jo-10 21
W wet 12 et 3 e N W g 2 | e

firre 1 g 2 et w5 2 3 ot fre # 1 Wi
4R et s 2 | 38 W@ 98 FRar ww § @
& i | wg" JEm ¢

(a) 10 fire (b) 21 fire

(c) 12 fire (d) 11 fre

T — | 1 e - 1) R ghfer A st g % AR
fo T e & SNUR T I I FH YA HAC
-1 =1l

T o 21 1. geerd Ry
e gl T 21 2. siverd fures
foreneff gfgnam 21 3. e wHRTAS
fram o ft 7 1 4. STvreTdt HHERIOTR

L

>

B oow
eEnEEe YY REA

(a) 3PV @Y
(b) &1 Tl

(c) s
(d) Suetste

fferRea & @ S-w1 wwen gmym |
Fft-ft S1en I FaA R 7

(a) Ty (b) W femamg

(c) HgwAd (d) T

i Frofem Soh 3 & foredl o T T R 2
(a) Tarverwumenss qefl  (b) SaERw el

(c) Fcamemss St (d) ST § @ % T
gﬂ;ﬁaﬁﬁmaﬂ@uﬁma@mm

Jauit 10, 11, 16, 17, 12, 13, 17, 16, 16, 12, 16,
10, 15, 16, 10 <1 SEET 3

(@) 13 (b) 15

(c) 16 (d) 394 ° A B T
forers frgest o “oftarr’ <6t @ I ] ¢
(a) T AHRF  (b) AW % fam F
(c) 3 & (d) Tfewan &
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60. Any valig standard form of categorical syllogism

with a Particular conclusion and two universa|

Premises wil| commit the fallacy of

(a) Micit major (b) Existential fallacy

(c) icit minor (d) Undistributeq middle
TQ&missi umber (?) in the following series

SEJ%):?—QE %70, ?,405 is

(a)6 (b) 540
62.  The age of father is twice that the sum of ages

of his two sons. 20 years later, the age o ather
will become the sum of ages of his two sons. The
present age of father is '

(c) 360 (d) 135
n (8Y40 years

(b) 60 years
(c) 30 years

(d) 50 years

63’ chnplete the sequence with the correct option
from the following codes :

ﬁC\T,K
0 EGIK:FILO:: FHJL : 7 F L
(a) JomP ™ bdepm FT LO
o () GJPM \(@Camp FHTL

-
64. How many 4's are there in the follovéﬂn'g‘ \tﬂigh

are preceded by 7 bt NOT followed by 3?
59321_73 6971328%;383256

133958201874 3
our (b) Three
(c) Six (d) Five

In a row of boys, if A who is 10t from the left
and B who is 9" from the right, interchange their
positions, A becomes 15t from the left How
many boys are there in the row ? (M

65.

it FAoe =SS 10

SE =

RFL—~ |
£ = (F2Y
Lo = Ag'@ap sy |

60. foeft 3§ -
R ) 8 96 oy area et g, A

Tk fifea gm T
(@) sfafg ge vg  (b) weTe o
(€) st S v (d) oreaTe @

o1, ) o\;—%—gj‘q . 2

R R e (7) @
gc;, 61 7850 90, 270, 2, 40? 3 %To

(c) 360 | (d) 135

R 1 ag 3w 2 i A s 3 A A G

%lzoaﬁmﬁm‘ﬁma’ﬁ@a‘m%

A % qUeR & S | e 6 adAe g 2

(a) 40 =¥ (b) 60 T

() 30 ad (d) 50 ¥

Feiffen e w3 & wdt fersrea 710 SITFH )
qof Shifdra . :

EGIK: FILO: : FHJL : 9

(a) JGMP (b) JGPM

(c) GJPM (d) GJMP

Frerfomen & e 08 4 § e 7ed 7 2, AR
e 3R 7 |

59321742697461328741383256
74395820187463

(a) W) (b) =
(c) ®: (d) uiw

asﬁﬁ@t’r%ﬁuﬁ.a,m‘aﬂtﬁmﬁwm
qt%aﬂtsaisfnégémmé,zﬁaﬁw
mﬁmﬁaﬁaéﬁ%,ﬁmaﬁaﬂtéw%
T W& S R | 9 & Bt e e & -

62.

63.

64.

65.

(a) 24 (b) 31 oD (a) 24 (b) 31
3 d) 28 A (c) 23 (d) 28
2 (@) L | | |
86. Arrange the words given below in a meaningful | 66. ?ﬂﬁﬁqﬁmﬂﬁmwﬁmﬁmm:
sequence : 1. wegfa
1. Presentation 2 mﬁ%
2. Recommendation 3. AP -
3.ArrivaIH3/§/1H,2 o et
4. Discussion 5‘ . U
5. Introduction '
3,5,1,4,2 (b) 5,3,4,1,2 (a) 3,5,1,4,2 (b) 5,3 4,1, 2
(0)3 54,2 1 (d) 5,3,1,2 4 (c) 3,5,4,21 (d) 5,3,1,2 4
| 6 171219 20 4932 23 2195 , ¢
: T lopn - Ty s %
2. 48 418 , PO AST UV WYYS
BC D EFGRT T KLUN OFQ . )
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67. 3 men or 7 women finish a work in 32 days.
7 men and 5women together will finish the twice
of this,work in
(ay19 days

(W

g8. Twotrains of length 127 mt.and 98 mt: are moving
in opposite directions with speed 35 km/hr and
55 km/hr respectively. After meeting they Wi||L’

(b) 31 days
(d)')&dﬁs

cross each other in ,6?6 A
(a) 6 seconds (b) 8 seconds

\9)/6 seconds (d) 10seconds ., 72
If x3 + y3 = 35 and xy =6, X >V, then value of
(x—y) will be
(a) 1 - (b) 2
()3 None of the above

/@ If (x — 1) and (x + 1) are two factors of the
polynomial x5 - 1, then its other factors are

(@) (@ +1), 02+ XF 1)
(b) (x2+1 =1)

W‘U
(O Rr=TT O+ x=1) -

Arectangular fieldis 112mt. long and 62 mt. broad.
A cubical tank of edge 6 mt. is dug at each of the
four corners of the field and the soil so removed
is evenly spread on the remaining field. Find the
rise in the level of the field.

(a) 13.13cm (b) 11.9cm

(c) 12.7cm (d) 14.24 cm

The radius of a solid sphere of a metal is
3 ¢m. How long wire of diameter 4 mm can be
drawn from it ? ‘
(a) 8.8 mt.
(c) 9.6 mt.

&)

(b) 9.0 mt.
(d) 9.1 mt.

73 Seventeencandidates appearedinan examination.
The marks of the candidates who failed in the
examination are 10, 9,6,7,8,8,7,5 6. The
median of marks of all seventeen candidates is

—
sl
{ A

Z
2 o

FexT = Sary
o ot & @ R IIi7
' w32
67. 3anzn‘1m7am%®$ﬁ ket
' ﬁSaﬂﬁﬁWaﬂ%@ 8
(@) 19 At A (b) 21 el @
() 27 Fei (¢) 36Tl A
gs. 127t 3R 98 aﬁﬁamﬁm"ﬁqﬂaﬂwﬁ
e sofh g S5 T
m@%iﬁaﬁ%mﬁwaﬁaﬁ-'@aﬁ
) qu ¢ T ? %é_gzg
X% (@) 63FS (b) 8 &S = -
Tmls (c) 9T (d) 108 D
L S'LS
69. qﬁx3+y3=353mxy=6,x>y,fh(x_y)-q.;‘ gfkg
M g Z=
(a) 1 (b) 2 ;7;1}4/
() 3 (d) I f B i T .
70. uﬁa@ﬁxﬁ—ﬁ?ﬁm(x_nq&
(x+1)%,a‘f3aﬁsazﬂgum@v3%

(@ (@ + 1) (x2+x+1)
(b) (x2 + 1), @ -x-1)
(©) (x2-x+1), (x2 +x+1)
(d) (@ =x=1), (2 +x-1)

@W@ﬂa‘ﬁmmrﬁ.mﬁmﬁ

g
ezﬁ.%lem.wwnﬁmﬁﬁa%aﬁ
Sri TR T i S R g T SR W
¢ e fae fan T | 6 % T A wed gl
(a) 13.13 87# (b) 11.9 8
(c) 12.7 &R (d) 14.24 Tf

72. Pt ug % T v e A Brew 3 WA R 1 @R
4 Rl e =1 P @ ar wien 6 8 ?
(a) 8.8 HIX (b) 9.0HIX
(c) 9.6 WX (d) 9.1

73. wr el Fed when § wfw g | S vk
hen & Ewe g 3% s 10,9,6,7,8,8,7,

5.4,6%|mﬂmmﬁiﬂ%maﬁimﬁw%

(a) 6 (b) 0 ). &

(©) 9 Vm)l\lone of the above ©9 () 37T & A FE T
D |\ O 412 ne——= -9- g |
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barrier in organizational communication ?
(a) Ethnocentrism
(b) Semantics
Ingratiation
(d) Impression management

75, Highest degree of communication openness is

found in

Informal communication
(b) Meta-communication
(c) Direct communication
(d) Indirect communication

76. Which one of the following behaviour is the most
appropriate for diffusing verbal abuse of co-workers ?

(a) Become defensive
(b) Getinto debate
efuse to accept harmful language

(d) Keep aggressive body language
7. ‘Proxemics’ is related to

(@) Neutral Communication

(b) Unidirectional Communication

Verbal Communication

(d) Non-verbal Communication
78. The key element for effective interpersonal

communication is

(a) Abstraction

(b) De-sensitization
Active listening

(d) Ego-centric reinforcement

79.  Which one of the following is related with
organisational ecology ?
Centralized Communication
(b) Upward Communication
(c) Lateral Communication
(d) Downward Communication

80. Smita reckoned sixteenth from the top and
twenty-ninth from the bottom among those who
have passed an examination. Six students did
not appear in the examination and five failed in
it. How many students were there in the class ?

(a) 40
(c) 50

(b) 44
55

81.

9 kpn. How far is he from his starting point ?
7 km (b) 5km
(c) 4km (d)

e

S

Which of the following is NOT an interpersonal

Ravi started walking towards East. After moving
a distance of 1 km, he turned Southwards and
walked 5 km. Again he turned to East and walked
2 km. Finally he turned to the North and walked

74.

75.

76.

7L

78.

79.

80.

81.

(c) Yt wwweT H

©(d) Tl wR A

P & @ F-a1 SATER FEHnt & e
S, B - fo 4 s 3 2 7

ot wliem & 3ofof gu At § for = oW A wm
1631 T R R 2097 o1 | @ BE! Y w0en B fan 3k
5 BH I4H JTgefiol @ | e A et fhad o 2 7

(a) 40 (b) 44

(c) 50 (d) 55 .
T3 @ R 3 Tom s fen 1 Rl SR §
S o &1 it T Y3 e B 3K 5 Ff, e

2 |9 98 T 1 0 e & ik 2 frf, e 2 |



g2. Which one of the following diagrams properly

@% *Q0D

84.

7
Find the missing number in the following figure :

04 [j05 [jo6 | lb+u+) 4
j/ 2 |Jos |Jo7 | dcratdy A
o1 [Yos | 03 “9
T | 2 ] 3614+ A Ly
ar (b) 88 14
(c) 92 (d) 86 4

D

,\/(.e)/ NPTSL

OO

represents the relationship among ‘Body', ‘Ear’,
‘Mouth’ ?

(a) (b)
_

Four men A, B, C, D and four women W, X, Y, Z
are sitting around a table facing each other. If

‘i., No two men or women are sitting together.
ii. Wis to the right of B.

jii. Y is facing X and is to the left of A.

iv. C is to the right of Z. :

Then who are the two persons sitting adjacent

toD?
(a) Wand Y (b) Xand W
) XandZ (d) Wand Z

In a certain code, 15'_(_'89 is written as XTZAL
and 2346 is written as NPSU. How will 23549 be
written in that code ?

(a) NPTUL (b) PNTSL

(d) NBTSL

effect’ in the context of decision making ?
he way in which options are presented
influence the selection of option
(b) Choosing the option having highest
expected utility
(c) Akind of set points of thought in wrong
direction

86. Which one of the following refers to the ‘framing |

(d) Looking for evidences that will confirm what
are currently believes

2
I
x P S U

Yy B Y
bl )
x T2AL

[
{

82.

83,

85.

86.

3 Y

ﬁnﬁ*ﬂi‘aﬁ%ﬁq-mi@rﬁﬁ'ﬂﬂt, %H
— Lk LA ?

(c) (d) .‘.’

TR A, B,C, D@ SR AR W, X, Y, 2 T H9
3 o e o R 1 7 e P 43 F A
8 o ) goY e e AR T

|
i B ¥ qfe T &R |
iii.Y,x%amﬁﬁmAaWRﬁWﬂB‘l-‘é_a

v, C. 2% gt T AT 7 |
a}aa@q-g,ahoasaﬁaﬁxaé%?
(@) wWad Y (b) XTur W
(c) XTu Z (d) W Z

g4, foeht Pifera g2 T & 15789 ®Y XTZAL 3R 2346

21 NpPSU ¥ w9 # foren T | 3t e A
23549 1 fora s foran R 7

(a) NPTUL (b) PNTSL
(c) NPTSL (d) NBTSL
fyerffaa sl § g 3 T Hifo

04 | 05 | 06

02 | 03 | 07

01 08 | 03

21 08 ?
(a) 94 (b) 88
(c) 92 (d) 86

Priq 33 % da § S e’ P # 3
fraeT Jooi@ H 2 7

(@) e A vy 90, P & T A

Tl < 8 |
(b) mﬁmmmmmﬁmm&m

Haifus 2
(c) e feam & Fremtt ¥ e féigal 1 T SR
(d) :jﬁa%ﬂﬁaﬁ-{gma}aﬁmﬁﬁr@iﬁgﬂ
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87.

88.

89,

90.

91.

The tendency of members in a highly cohesive
group to lose critical evaluative decision
making capabilities is called
(a) Group think
(b) Assertiveness
(c) Group polarization

ognitive dissonance

The decision making style that “overly concerned :

with keeping everyone happy” is called
(a) Conceptual style
(b) Directive style
ehavioural style
(d) Analytical style

Which one of the following is NOT a rule forestimating
the likelihood of outcomes of any decision ? :

# Fatilityse (b) Representativeness |
(c) Availability 1(d) Adjustment
In a valid standard form of categorical syllogism,
if predicate term is distributed in the conclusion,
then it must be distributed /
(a) in both the premises
(b) in minor premises
(c) in major premises
(d) in none of the premises

Probability is an attribute of
(a) Aninductive argument

\_AbT A deductive argument

92.

93.

94.

(c) Disjunctive proposition
(d) Categorical proposition

Which of the following decision makers are tend
to be good at discovering creative solutions to
the problems ?

(a) Directive style decision makers

(b) Analytic style decision makers
(c¥Conceptual style decision makers

(d) Behavioural style decision makers

If°‘A'is B’s sister, ‘C’is B's mother, ‘D'is C's father,
‘E'is D's mother, then how js A related to D ?
(a) Grandfather uﬁ)/(lssranddaughter

(c) Grandmother 4 (d) Daughter

If you write ddwp all the numbers from 1 to 100,
then how many times do you write 3 ?

(b) 11

(d) 10

3 15,23,%3,523,€%,73,93, 93

30,31 ,3%, 33_,_%5, (3_5,_ 24 ,317, 3%, 29

-12-

87.

88.

89.

90.

91.

92,

93.

94,

RFL -

. ¥ gedl & U
R e ot s 72 8 9 6 1y
el 3
(a) W8 W19
(b) gEaTaThHAT

(c) ¥8 :

wﬁﬂﬁ@--mﬁmmﬁﬁm
(a) FEEATHS Jef

(b) P e

() SHTERITH A<l

(d) freewumer deft ‘

el # @ s-ar fofa & gROm 6 wrsrem;
¥ 1 PemEiR ?
(a)%ﬂw (b) ShHirra
(c) I (d) |HRIeE

4y 7 SR % FRYy AR 1 IR ge v
ﬁiﬁéﬁm%,‘rﬁ_@m@m@m

(a) AT anyR Rl A -

(b) 7 Fmuw T A

(c) o Fnum AR A

(d) Toreht oft snum a0

TEEMTERT O 2

(a) ATHATHS I

(b) FrmTeRs gfFa 1

(c) T Thare &

(d) Freuftes sdhamm &1

Frefafes & @ fe fofowdia § auenst &
GRICh WHTT S Y 3reht waRy ol o 3 7
(a). Féumems St % Frokrrtatt

(b) fervcwomens it F Rrokamaisii 5.

(C) WrIATeH Mt & Fofawatat &

(d) =TTERTE Aeft o Frofreratar o

WA BRI Y, 'C R AL, D, C
%, E, DR AL 7 Am DIFMa=TTR 7
(a) T (b) ot

(c) wt (d) ¥

aﬁm1é1ooa¢ﬁwmmﬁ,a‘f

I et 9m 3 vl §
(a) 20 (b) 11
(c) 21 (d) 10



.  ex2=36 TU=U0 gy
ﬁ Tx2=WA0ED) 99y, - 3uy 4 = 3L,%m |
95 What number would come jrrthe place of 95. W g & ©IH % s-H we '
question mark ? » @(’ l
=60H ]
R
- LioX 2239
=g
o | BUX2.= Joptly
@ werss - =172 @72 (b) 84
(c) 68 (d) 66 - - (c) 68 (d) 66
96. Choose the odd pair of w ;'ds : 06, weei & fowd JH Hl gﬁa
(a) Volume : Litre \Jbﬁqressure : BE%ﬂrrﬁéat‘eﬂr (a) A : X (b) <o : et
(c) Length : Meter (d) Resistance : Ohm (¢) g« iR (d) Y : W
97. Read the following stateme 3; 97. . ﬁqﬁ-{ﬁga FYA AR
|. Rama is older than Sonam<% K A“S |, @A AT R |
Il. Poonam is older than Rama. L, T d3 Aedig |

Ill. Sonam is older than Poonam.

If the first two statements are true, then the third
statement is
(a) True

\y)/false

Complete the foLovy;ng series with the correct
option; &

(b) Uncertain
(d) None of the above

X2 6.8, 18 40, ?
(a 70 Brtz 71
\/ﬁ 72 (d), 75
b\

99. A shopkeepe?Lﬁgthe price of an article 20%
above its cost price. He offers some discount on
the marked price and gains a profit of 8%. Rate
of discount is

99.

. €, wﬁwﬁaﬁ%f
af et 2N o T R, @ e e 2

(a) T (b) rffeaa

(c) I (d) 3w A A SR T
98, R gD el P o i
3,2,6,8,18,40,7 {4 Z~ cq

@ 70 2¢2 10Xy —=

(c) 72 (d) 75
@gﬁﬂaﬁf‘ﬁmﬁm;wmmu@ﬁzo%

e Afeha T 3 | 98 HfHa Tod R TS gE o
AN 8% AN FHM R IR AR

(a) 8% (b) 10% (a) 8% (b) 10%
\/gmz% (d) 15% (€) 12% (d) 15%
100. If'+' means'+,'~'means x, 'x'means ‘+'and '+’ | 100. &R “+' = If + ‘e o i, W I 4 M
means -, then6 + 10 -4 12—'!;6:? Wai?f‘—’%,?la6+10—'4x12+6=?
-32 — by 32’ (@) - b) 32
(c)-41.4 (d) 48 (c) -41.4 (d) 48
E-lo Xut)2 T € > £loXuts 4
CP =100 ~hg. +2 —?%
D U= 120 ® = ~32. <
™M —> c\;écao-w}u S P =10
—

SP-100
o 0/ B0~ 2



